
Prefix && Postfix hw1
Name ____________________ Per ___


I
Rewrite the following infix expressions in both prefix and postfix notation:

a. (7 – 5)5 % (5 + 2 * 3) =

prefix:

postfix:
b. (5 * 4  – 3) * (100 
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prefix:

postfix:
c. –2 + 
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d. (
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prefix:

postfix:
e. (
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II
Evaluate the following (Use integer Math)

a. + 
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 ^ 3 2 5 – 8 3 =

b. * + + 5 4 –2 - + 7 3 ^ 4 0 =

c. 
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 * ^ 14 1 + 9 11 + - % 48 18 –1 5 =

d. 
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 * 5 2 ^ 44 0 =

e. 4 10 12 –2 + - ^ -5 – 11 –5 + 
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 =

f. 10 3 + 24 7 % 4 2 - ^ * = 

g. 4 3 ^ 10 1 1 ^ - 5 
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 + =

h. 34 13 % 5 6 - * -3 –7 + 100 36 
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